G )

3,522 | 3,522 | o | 0|
99 100 100
254,500
73 84 100
636
35 48 52
23

66 66 67
ha 2,728 ha

9 9 100
ha 218 ha

17 22 26

23




209,709

59

59

63

23




RO5 |R06 [R07 [RO8 [R09

A07-001 u 37
A07-002 0 2000x 1200 [ I B A B | 266
A07-003 [ I B A B | 67
A07-004 0 3500x 2500 [ I B A B | 600
A07-005 [ I B A B | 292
A07-006 [ I B A B | 80




RO5 |R06 [R07 [RO8 [R09

A07-007 [ I B A B | 465
A07-008 n n n n n 1,225
A07-009 [ I B A B | 233
A07-010 [ N B R 133
A07-011 [ I 124

[ [T [ e




RO5

€)) 187

() 0

(c=a+b) 187
©) 135

© 266

® 56

@ 56

(h = c+d-e-f) 0
(i = (g+h)/(c+d)) 17.39
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